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SN BA(SA) - MRAY - BES 0l &t o il HImEET
off 2 & 2t 11,386,293 8,494,026 2,892,267
= 27,600
& 8,060,000
J| 120,000
< 3,178,693
Hotzte] U GHYBAML(BZES /oY) 5,678,800 6,681,000 A 1,002,200
& 5,310,000
J| 120,000
< 248,800
P H Foffer e - 2& 5,340,000 5,735,000 A 395,000
& 5,120,000
< 220,000
HotEE (= 1) 4,700,000 3,395,000 1,305,000
= 4,700,000
403 A X EHHSH20IA 4,700,000 3,395,000 1,305,000
& 4,700,000
01 X EHHMA=ZLE L 4,700,000 3,395,000 1,305,000
O OHH YA (300 4&) 4,700,000
& 4,700,000
HotRA FLIHY 89(=21) 600,000 600,000 0
& 420,000
< 180,000
207 O] 600,000 600,000 0
& 420,000
< 180,000
01 289 600,000 600,000 0
Ot HAXAH SelXAEH 600,000
= 420,000
< 180,000
HE&OL S 2telth 40,000 40,000 0
202 044l 8,000 8,000 0
01 SLHOIYI 8,000 8,000 0
OO Set2teltHz =& 8,000
403 MHXSHHSA=0l& 32,000 32,000 0
01 XM= E L 32,000 32,000 0
ObtZIt S&r2elt=(6004a) 32,000
HOLMERNH Ed Y HLBZES 338,800 946,000 A 607,200
& 190,000
J| 120,000
< 28,800
HSHIISFHSH(=2D) 190,000 224,400 A 34,400
& 190,000
403 UtXSHHS A= 0l& 190,000 224,400 A 34,400
& 190,000
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 AXSHMA=2EE 190,000 224,400 A 34,400
OGHLHIISE S AL (61 A) 190,000
= 190,000
HOLO & SZMA(=12) 120,000 700,000 580,000
J| 120,000
403 A X EHHS =0l A 120,000 700,000 580,000
J| 120,000
01 X SHHX2E= 120,000 700,000 580,000
OO Eoietdt Med] =HAY 120,000
J| 120,000
He & HRsS =AHIIMEXA 28,800 21,600 7,200
403 MHXHHSA=0l& 28,800 21,600 7,200
01 HXSHMA=E X 28,800 21,600 7,200
OHRY HRS =HMIXA(4MHA) 28,800
g2z L SRINBIL(sHHSa/oHLa - O E) 5,410,840 1,506,440 3,904,400
= 27,600
& 2,750,000
= 2,633,240
LA S gy & 2el 41,480 76,880 A 35,400
HYAS4 EH5) 41,480 76,880 A 35,400
201 ¢er24] 5,000 40,400 A 35,400
03 A2 Z Hl 5,000 8,000 A 3,000
OZJEE e ES d4PH2A 29 5,000
202 044l 6,480 6,480 0
01 = LH o4 1l 6,480 6,480 0
OMSUELLY HMG ALET 6,480
308 A EHHSOIA 30,000 30,000 0
01 HXNHHNBHEELS 30,000 30,000 0
oL Er E2XNA 30,000
o2t -adMd elZet = 3,755,080 685,280 3,069,800
= 27,600
& 2,750,000
< 977,480
ZE HiU=EH N& 59,480 56,480 3,000
202 O4dl 9,480 6,480 3,000
01 = LH 4 Hi 9,480 6,480 3,000
Oofl? B & ol el 2= 9,480
308 XXM SOIA 50,000 50,000 0
01 AXHHIYEES 50,000 50,000 0
OHM73 2SHU=EH XA 50,000
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET

HEMENE=4(21) 250,000 100,000 150,000
& 250,000

403 MtXSHHS =0l & 250,000 100,000 150,000
& 250,000

01 X SHMA2E X 250,000 100,000 150,000
OENELsxS 250,000
& 250,000

HEMEDS MRE HEXNI(21) 27,600 28,800 A 1,200
= 27,600

403 MtXISHE X201 & 27,600 28,800 A1,200
= 27,600

01 X SHHN2E = 27,600 28,800 A1,200
OUENELE AIRE HEXH 27,600
= 27,600

HE32 =4(=221) 650,000 0 650,000
= 500,000
< 150,000

403 Ut S EXE201H 650,000 0 650,000
& 500,000
< 150,000

01 X HHMA=E L 650,000 0 650,000
O=2d dMEdEZS2 =4 650,000
& 500,000
< 150,000

o3 oot g2 =4 2,210,000 0 2,210,000
& 1,700,000
< 510,000

403 UHXSHHS =0l & 2,210,000 0 2,210,000
& 1,700,000
< 510,000

01 *XSHMA2E X 2,210,000 0 2,210,000
Od= oottty ggtz X4 2,210,000
& 1,700,000
< 510,000

=2y 43 XA 18,000 0 18,000

308 XtXIEHHSOIA 18,000 0 18,000

01 AXHHIYEES 18,000 0 18,000
odigzy g4dst XA 18,000

SoiQ X SH HAE =8 22 NHE e 390,000 0 390,000
& 300,000
< 90,000

403 Ut E X201 & 390,000 0 390,000
& 300,000
< 90,000
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ool HYRE - AN oZet P& (B9 ®R)
S EHH B (B) - HSAY - BLS il HDS2
01 AIXISHMA2E X 390,000 0 390,000
Osolo == A 22N 390,000
k) 300,000
< 90,000
A2 & GHE DIBIAIE =4 50,000 0 50,000
403 X SHMS K201 50,000 0 50,000
01 XIS AE2E X 50,000 0 50,000
OAMIENH JIEBFAIE XA 50,000
LA EZ=HEH F=HIU AL 100,000 0 100,000
403 IR SHHSA201H 100,000 0 100,000
01 XX SHMA2E X 100,000 0 100,000
ONFAEZ=HE F=HHU AL 100,000
Stsolld =28 MEI|KN =4 1,614,280 744,280 870,000
o Mgz 2435 XA 1,079,000 ,000 350,000
202 4] 9,000 ,000 0
01 2L Y] 9,000 ,000 0
ooty R L #XEH 9,000
308 AHX| &AM SO0l & 1,070,000 ,000 350,000
01 AXHMIAEES 1,070,000 ,000 350,000
OR9s =H&2 8435 K& 1,070,000
stsold 2843 oM 29 15,280 ,280 0
202 O B 8,280 ,280 0
01 2L Y| 8,280 ,280 0
oXEz WEZR 8,280
307 212t01 & 7,000 7,000 0
04 A2tHAIE X = 7,000 7,000 0
ostzeds E2AXM 29 7,000
SHEE =82 H&E 20,000 0 20,000
308 XX SHAMSOIA 20,000 0 20,000
01 AIXHMBAEXZ 20,000 0 20,000
o=MN&=z =s2= HN&E 20,000
=S58 HAISAH MOHEAS 500,000 0 500,000
308 AHXI S M SO0l & 500,000 0 500,000
01 AXNHMIAEES 500,000 0 500,000
O=5& HMISH MMHEAS 500,000
LS MEEMIBIRAE (RS2 ) (sHH LA/ HES 253,000 278,000 A 25,000
& HE)
S0 soiot &4 253,000 278,000 A 25,000
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B YA MLEIS DS (N2 D) (SHHL S /HY z)

& OISU2 Solle F&xd (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OtMst 2 I XA 120,000 120,000 0

308 AHXIEHH SOl 120,000 0 120,000
01 HIXNHHBNEES 120,000 0 120,000
OoolE=2g ¥ FHX 120,000
ofotel & ofietAl =& 79,000 0 79,000
202 oddl 4,000 0 4,000
01 = LH o4 1l 4,000 0 4,000
Odfetd & olietAl S FA 4,000
403 Mt S E X201 & 75,000 0 75,000
01 X SHHMA=2LE L 75,000 0 75,000
Odhere & oietAR =& 75,000
OlAIR FAtZ3 =& 54,000 0 54,000
202 Oddl 4,000 0 4,000
01 = LHA YI 4,000 0 4,000
O=olfet e & OIAR 23S =& 4,000
308 XtXIEHHSOIA 50,000 0 50,000
01 IXNSHHBANEES 50,000 0 50,000
OO0IANE FAEs =& 50,000
HY2HZH (o2& e)(IIEH/IIEH) 43,653 28,586 15,067
Jl2& bl 43,653 28,586 15,067
EM29 JI2Z 4l 43,653 28,586 15,067
201 et 14,000 14,000 0
01 At 22l 14,000 14,000 0
ORA2Y AtR2eltl 14,000
202 Odl 25,453 14,586 10,867
01 = LHA YI 25,453 14,586 10,867
OFNE2Y SUHHLI 25,453
203 R =& 4,200 0 4,200
04 NI 4,200 0 4,200
©30Q! 0]t 350,000 128 4,200




